OPERATIN

COMPANY, INC.

Motor Driven Sand Equivalent Shaker
SE-2B & SE-2BF

Rev: 04/2019

PHONE: 800-444-1508

P.O. Box 200, Lewis Center, Ohio 43035-0200 FAX: 800-255-5314
740-548-7298

E-mail: customerservice@gilsonco.com Product Web Page: www.globalgilson.com 740-548-5314


https://www.globalgilson.com/motorized-sand-equivalent-shaker

Gilson Company, Inc. Motor Driven Sand Equivalent Shaker: SE-2B & SE-2BF

SAFETY INSTRUCTIONS

Whether you are the owner, employer, operator, or maintenance person for this machine, safety is your responsibility. You
are responsible for operating and maintaining this equipment in compliance with these instructions and for using common
sense. Review and completely understand the operating and safety instructions before using this machine.

This machine operates on electric current. Improper operation could result in electric shock, electrocution,
or an explosion!

1. ALWAYS make sure the motor and other electrical components are appropriate and properly configured for your
intended use and available power source. The Motor Driven Sand Equivalent Shaker is normally wired for 115V/60Hz
and comes with a 1/6hp DC gearmotor.

2. ALWAYS check electrical wiring for loose connections and for pinched or frayed wiring.

3. ALWAYS use a properly-wired, three-pronged plug, or otherwise ground the machine. Connect the machine to a
properly-wired, three-pronged receptacle. Make sure the cord is located where no one will trip or get tangled in it.

4. ALWAYS disconnect and lock out power supply before performing maintenance and repairs.

Do NOT use this machine in an explosive atmosphere. It is NOT explosion proof.

WARNING:  Operate only in a properly ventilated area.

WARNING:  Your Motor Driven Sand Equivalent Shaker is NOT counterbalanced. It must be adequately mounted to a
substantial, rigid foundation, preferably a poured concrete floor. Otherwise, the machine will vibrate exces-
sively and move around.

WARNING:  Level the machine following the procedure outlined in the Unpacking & Set-up section, prior to operation.

WARNING:  Stop the machine immediately if excessive vibration or machine movement occurs.

WARNING: DO NOT operate the machine without all guards and covers in place.

WARNING:  Keep all parts of your body away from moving parts of the machine while it is operating.

WARNING: DO NOT wear loose clothing which might be caught in moving parts of the machine.

WARNING:  Wear safety glasses, protective clothing, and hearing protection. Wear approved NIOSH/MSHA respirator as
required by the sample to prevent your inhaling any dust which may be considered hazardous.

Page 2



Gilson Company, Inc.

Motor Driven Sand Equivalent Shaker: SE-2B & SE-2BF

1.0 UNPACKING & SET-UP

3.0 MAINTENANCE

SE-2B and SE-2BF Motor Driven Sand Equivalent Shakers are
shipped completely assembled and ready for use. Merely
plug the unit to 115V/60Hz supply (or 230V/50Hz for model
SE-2BF). Adjust the level using the four adjustable feet and
lock them in place.

2.0 OPERATING INSTRUCTIONS

Place a SEA-101 Clear Plastic Cylinder with rubber stopper
in position on the slide assembly of the shaker. The spring-
loaded holder fits over the cork in the open end of the clear
cylinder.

The shaker has a throw of 8in (203mm) at 175 cycles per
minute. The 3-position center switch is used to select 45
second test time (left), or 10 minute test time (right). Center
position is off.

NOTE: This manual is a general guide to operation and
maintenance of this device. The user is responsible for
conducting the test in accordance with applicable ASTM
or AASHTO specifications.

The 45 second time is used for Sand Equivalent tests de-
scribed in ASTM D 2419, AASHTO T 176 or California Test
Method 217. The 10 minute time is used for the Durability
Index Test described in AASHTO 210 or California Test Method
229.

Once time is selected, push the bottom START button and
the machine will run for the selected time, then reset when
it shuts off. The top red STOP button is used to terminate a
test during a timing cycle if necesary for emergency or other
reasons. When the STOP button is pressed, the machine re-
sets and will run for the full test time when the START button
is pressed again.

Normal routine maintenance consists of lubrication as fol-
lows:

Once a year, apply a small amount of automotive chassis
grease at five locations. The gearmotor is lubricated at the
factory and is sealed for the life of the unit.

1.  Remove the top and rear covers.

2. Locate one grease zerk at the crank pin on the gearmotor
shaft.

3. Locate one grease zerk at each of the four vee wheel
attaching shafts.

Page 3



Gilson Company, Inc. Motor Driven Sand Equivalent Shaker: SE-2B & SE-2BF

4.0 PARTS LISTS & DIAGRAMS

4.1 SE-2B & SE-2BF Case Assembly Parts List & Diagram

Item No. Description Item No. Description

No. Req'd No. Req'd
10 1 D-SE2B-010 Base 70 24 #8 Lockwasher Internal
28 1 B-SE2B-28 Pot Bracket 71 15 #10 Lockwasher Helical Spring
32 2 Window 72 5 #10 Lockwasher Internal
33 1 Cover Stifner 73 8 #10 Lockwasher External
41L 1 D-SE2-41L End Left 81 1 Motor Chassis
41R 1 D-SE2-41R End Right 82 1 Motor Resistor Kit
42 1 D-SE2A-42 Case Front Lower 83 1 Motor Pot
43 1 D-SE2A-43 Case Rear Lower 84 1 Pot Locking Nut
44 1 D-SE2A-044 Top Cover Assy 85 1 Pot Mounting Nut
53 2 #6-32 x 3/8 Lg. RDHDMS 94 4 Foot
54 24 #8-32x 1/2 Lg. FLHDMS 95 1 Start Switch
55 22 #10-24 x 3/8 Lg. THMS 96 1 Stop Switch
59 2 1/4-20x 1 1/4 Lg. HDCS 97 1 Selector Switch
60 4 1/4-20 x 1 1/4 Lg. HHCS Full Thread 98 1 Switch Labels Set of 3
64 24 Nut, 8-32 Hex 99 1 45 SecTimer
65 8 Nut, 10-24 Hex 100 1 10 Min Timer
66 10 Nut, 1/4-20 Hex 101 1 Motor Relay
69 24 #6 Lockwasher External 102 1 Safety Switch

103 2 Lid Bumper
104 1 Lid Handle Cover

Figure 1
SE-2B & SE-2BF Case Assembly

4 100
a
N {®, g
WIRE CLAMP 22> 2 Ly
N (PRI I
> POWER GRD. $|‘\°’ 1% !ﬁ'* ¢




Motor Driven Sand Equivalent Shaker: SE-2B & SE-2BF

Gilson Company, Inc.

Alquiassy awesj aseg 192-3S 3 92-3S
Z2nb14

0Ly

bunds [edI[aH 1aYsemydoT O L# 8 L

X3H 0Z-9L// NN L 89

X3H ¥T-8/€ INN 14 /9

X3H +Z-01L INN 8 <9

SWHH '©12/L L X91/G ‘M3I3S L €9

SWHH "D1%/€ X 91/S "MaidS 14 29

SWHH "D18/S X 91/S "MaidS 14 19

SDHH 'O1.,1 X #7/1 'Ma1dS 14 85

SWAHNJ "9 8/5 X t7/1 'M3I3S 0c¢ LS

SWH4 'O1T/L L XpZ-0L# '‘MaIdS 8 9q

S4D 97,1 X0S9Ll/€ L 0s

9pINo Jabun|d 76-73S-3 L LE

1abunid aqn] 06-¢35-3 L 0€

195edS 67-9735-V 14 6C

IYbIS J93UN0D £70-9235-9 L yA4

abeuue) /1-g¢3S-D L L1

%20|g PN 10J0N G 1-9¢3S-d 4 Sl

[93YM 99 X497 14 90l Jamojjo4 we) [99ym 14 88 320|g we) ¢71-d¢3S-9 L L

uld Yues3 3isz7 L SOl J9MOJ||04 We) 3juel) L L8 [99YM 99A €1-9¢3S-Y 14 €l

qouy L €6 burjdnod xueld L 98 YoelL 99A 71-9235-9 v 4

uld |loY L 6 Jojoulesn Jopjeg L 08 yueld | L-g¢3S-9 L Ll

punds L L6 8/€ "Isysemyd0o] 14 9L osed 0l-d¢3s-d L oL

J8ysepm191LZd L 06 91/G 13ysemyd07] 6 YA J9PJOH =qnl +0-9¢3S-d L 14

J19ysepm 919D 14 68 ¥/1 19ysemyd07 cl 174 yoddns abelue) €0-g¢3S-A 4 €
ATaW3SSY JWVYHd 3svd ATaW3SSY JWVYHd 3svd AT9W3SSY JNVYHd 3svd

uondunsag Pbay ©°N uondunsag Pbay ©°N uondunsag Pbay ©°N

‘ON way| ‘ON way| ‘'ON way|

wpibviq 3 1517 s340d A|quiassy dwpi4 aspg 49Z-3S 8 9Z-3S T'¥

Page 5



Gilson Company, Inc. Motor Driven Sand Equivalent Shaker: SE-2B & SE-2BF

4.3 SE-2BElectrical Schematic

CONSTANT SPEED
SAND EQUIVALENT SHAKER ELECTRICAL
120 VAC 60 HZ 1 PH W/DC DRIVE

L1 NEUTRAL
120 VAC 1 PH 60 HZ
BLACK] WHITE
@ @ @ 45 _SECOND TIMER
START  STOP - 7
No 48 sec, i

7
g =
§ r eel‘\”l‘\lf -—|
S ®! .--::.\TEF‘. !
! .ﬁl 15285 !SE:]
R1B | A1A2 Iﬁl |N
» —ih |1} &
g wzk 1
: : ul__:_
ey §\[] R — N
T § N

B
=
:

BISON RIGHT ANGLE DC GEAR MOTOR
750 SERIES PMDC 90V
PERMANENT MAGNET MOTOR TENV
CAT:# 021=756-8410
1/8 HP 180 RPM OUTPUT BASE SPEED
105 GEAR RATIO 27.0 MAX. IN. LBS. TORQUE

HWMZI/ZM

DC MOTOR POWER SUPPLY

BISON 170-103-0002
Aﬂﬂm FEED
1/8 HP
DC

BISON RIGHT ANGLE DC GEAR MOTOR
750 SERIES PMDC 90V
MAGNET MOTOR TENY
FOOT MOUNTED
C‘T.:f 021-756-8410

/8 Hi OUTPUT BASE SPEED
STROKE SPEED ADJUSTMENT ':r.fa‘;s.*,z B3 by MAX- IN. L85, ToRQUE

F1 FUSE SIZE 2 1/2 AMPS

MAJOR COMPONENT LIST 120 vac 60 Hz 1 PH

No. DESCRIPTION

1 CONTROL CONCEPTS # 22PBNO—XFGN — ONE REQ’D.
LEGEND PLATE "START® § 22LPBK22 — ONE REQ’D.

2 CONTROL CONCEPTS # 22PBNC—XMRD — ONE REQ'D.
LEGEND PLATE "STOP® § 22LPRD12 — ONE REQ'D.

3 CONTROL CONCEPTS § 22SS3AC—XHBK — ONE REQ'D.

LEGEND PLATE "45S—OFF—10M" # 22LPBK-SP__— ONE REQ'D.

SENTROL #115-7Y—06K SAFETY INTERLOCK SWITCH — 1 REQ'D 7 2 0 VA C 60 HZ 7 PH

RELAY — DAYTON #1A491E — ONE REQ'D.
2 £ REVISIONS GILSON SCREEN INC.
6 | 45 SEC_— SSAC #TSD241045S — ONE REQ'D. NO. | DESCRIPTION | DATE | CHG, BY kel BOX 99 MALINTA, OHIO 43535
NO_SUBSTITUTES GEN REV| REPLC SWITCHES [7-10-95] JAS GILSON COMPANY INCORPORATED
. GEN REVIPGRADE 10 1/6 HPl6-14-96] JAS [™ o o 120 VAC 60 HZ
7 10 MIN. — SSAC #TSD241600S — ONE REQ'D. A ADD DOOR INTLK. | 7-4-96 JAS =i i
NO SUBSTITUTES B GEN REV 8-28-96| JAS NONE 7-5-95
REPLC ARTISAN [2-9-01] JAS T IAS "DC DRIVE
8 | BISON RIGHT ANGLE DC GEAR MOTOR W/80 VDC PM MOTOR D | GEARMDTOR/CHASIS | 4419 | MCW  lees e
#021-756-8410 180 RPM OUTPUT (10.3:1) — ONE REQ'D. $950705—-GCl

9 BISON CHASSIS MOUNT DC CONTROL
#170-103-0002 — ONE REQ'D.

Page 6



